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B.Com. (Part - II)
Term End Examination, 2019
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Group - C
Paper - I

Business Statistics

Time : Three Hours] [Maximum Marks : 75
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Note : Answer all questions. All questions carry equal

marks. Log Table and Graph Paper will be
supplied on demand.
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(2) .
g | feq @ ga | o6 FHe
(%) F/ % e | FE
50-70 72 ?
70-90 200 8
90-110 14955 8.5
110-130 154 7
130-150 78 7.8
150-170 38 7.6

The following information relates to the wages
of workers in a factory, their total working
hours and the average working hours per
worker. Calculate average wage per head :

Wages Group|Total hours|Average numbers of hours
&) worked worked per worker
50-70 72 9
70-90 200 8
90-110 255 8.5
110-130 154 7
130-150 78 7.8
150-170 38 7.6
AHY4qTr / OR

= 9 @1 Ui HWeE JE SIS
3884 382 63 8 0.4 0.03 0.009 0.0005

Calculate Geometric Mean of the following
data :

3884 382 63 8 0.4 0.03 0.009 0.0005
142 JDB * (8)
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2. iR wiw ¥ @t fd @ faoe
Tﬁiﬁ Ard aﬁﬁﬂﬁ:

Wi (] w) | famfel @1 e
20 18
40 40
60 70
80 90
100 100

Calculate Karl Pearson’s coefficient of

skewness from the following data :

Marks (less than) Number of
obtained Students
20 18
40 40
60 70
80 90
100 100
HYql / OR
fr=fafaa <t aforar o foewo @t gor i :

x | 22)23]23(24 [26]27|27]28|30]30
y [18]20]21[20 2 [22]23[24 | 25|26

fa=e arfas meg 26 3R 22 9 fau 9@
el
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(4)

Compare the variability of the following two ™"

series :

% | 22

23

23

24

26

27

27

28

30

30

y |18

20

21

20

(:

22

23

24

25

26

Deviation

should be
averages 1,e. 26 and 22 respectively.

taken from

actual

F&TR / Unit-111
3. = wosl @ fyar ok @@ &t F9E & 9
Fd o6t ey TUe G IS
fod &t SR | 9 W IR
(At H) (|t o)
165 168
163 166
167 168
164 165
168 169
162 166
170 168
166 165
168 171
167 167
169 168
171 170
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(5)

Td  the Karl Pearson’s

correlation between the heights of father and
son from the following data

coefficient of

Father’s Height | Son’s Height
(in cm.) (in cm.)
165 168
163 166
167 168
164 165
168 169
162 166
170 168
166 165
168 171
167 167
169 168
171 170
HYqT / OR

fefafea el @ wdwmm g
frfer | g &t sfgq o W@ st
Sd faa =t @ 67.5 39 el fuar &t
A T A KN S TF e

73.5 39 ©:
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(6)

T T
) (%4 )

65 67 Pa

66 68

67 64

67 68

68 72

69 70

71 69

73 70

S with the

regression
the expected average

hen the height of the
father is 67.5 inches.

Calculate the expected
average height of the father when the height
of son is 73.5 inches :

Calculate the Regression equation
help of following data. Also from
equations  calculate

height of the sop W

Height of Father Height of Son
(in inch) (In inch)
65 67
66 68
67 64
67 68
68 72
69 70
71 69
73 70
142_JDB *x (g)
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-~ 1% / Unit-1V
4. ﬁ%sﬁﬁ%awammmaﬁﬁﬁm
i) R BTN A e gren §
Discuss the characteristics and limitations of

Index numbers. What are the problems in the
construction of index numbers ?

34T/ OR
=Fm I Afq g Frfafes wHe w0
WA WA Y9 &1 samem Fif
ad 2006{20072008[20090010R011(2012

IV IG]
(fogea ®)| 80|90 |92]83]94 99| 92

S T A A e
T3 | o weffa mifst

Fit a straight line trend by least squares

method to the following data:
Year 2006]2007/2008[2009010[2011{2012

Production
(in Quintal) | 80 | 90 [ 92 | 83 | 94 99 | 92

Show the above series and trend on the graph
paper.

%18 / Unit-V
5. (o) frt W7 B '@ FA H fAC A4 F
yfager FAMHIE 7:6 &1 SH U

142 JDB_*_(8) (Turn Over)

Scanned with CamScanner



(8) ‘

T W & fau B F o Ha gEarmIE
11:8 ®1 991 & a1 8 &1 F1 Gifgehan
?, df€ SH vag F €2

The odds against 4 solving a sum are
7:6 and the odds in favour of B solving
the same are 11:8. What is the probability
that the sum will be solved if both of

them try it ?

(b) TF THMSR & T 9 faf= awqu &
98 IR-9R Il & fhaq fafi arda
I Hehdl € ?

A shopkeeper has 9 different kinds of

goods. How many different kinds of

parcels containing four goods can be
make ?

HYIqT / OR .
(@) T F TR T for it fr A
90 ¥ @9 99§ @ wifaear & fw
ELUIEE =R U
Four cards are drawn successively at

random without replacement. What is the
probability that four will be Aces ?

(b) TH T i TSt W W YA H YW Al

TRl il S ) w®n wifgeear § 2

What is the probability of drawing a card
of heart or an ace from a pack of cards ?

142_JDB_* (8) : 1,380
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